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() © g9reg 92 | fa@ 7 ot H3®s HisHe3s J95 © e HHE 308 »3 HiW

waH feg FHs3T et T 2 AHSTE 2
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(g) wisfors fo33 T nigy

7
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(i) #ed =F3 Y @3 fag 50% St wr At I 37 fea a2t gve T o fsa=ad |

W3 52 gve Iy Jtes difey . 1+2+3
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(SECTION — B)

13.  waarg dhff Bars niest (9efag) dtufagmr fEy | 1

14.  “wes (yefie) wer Faarg gt 36 fefum gasTs agae et €ug 3 < #go3 I
(Fdft feasu ¥<) 1

(a) fenragazs
(b) feonm3fege gHIgass
(c) IIIT TIPS

() IFIHIIES

15. ‘Hea” Tt »Ig Is ? 1
16. ved ydst T fegwd3 75 : (At feasuvd) 1
(a) dedtEx

(b) =uwa

(© (a)»3 (b=

(d) wIaTI

17. fea »iaw feemea fag C = 500 + 0.9 Y »= [ = ¥ 1000 33 (7<fa C = Qudar ygv,
Y =gHedtnmies, | =foen) I 3uraq . 3

(i) F3ISsH3II ITHSITHHTS
(i) fe=mIcTTHS
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T4J Ha1 S 578 fages © Bt Hafas agas™ Stgfuar migrg |
7t
WUTS (Mg Hal S AU 375 fages € wet “8a v9” A gfHar rue§ |

S fa fag ‘Fag wag §3u=’ (GDP) € afews € god € gufew “Jig Wefaq fefen™
fea FiHT 3 |

Jadt 8 € “Eaf T g AW FHETE |
G
e Hitmmava Eergas S RaesT 578 Hed aca S a9H UIETBTRHES |

TS THE I8 I Tafun § gaHT ars (T2f6€) yow w3 U+ uae few =gaffags a9 |
(i) nfafea HgTE3T (FEfHST)

(i) fermar Srenmt

(i) 9 feder a3s QUT yaw

(iv) ys = faarTsGua uge

Iz fafin T €338y -
(a) WIGHET € MaHEe (FIBYEHS) B HS JIH few M3 RUAC T |
(b) 3IIBE HIGS few Yoz (FEfe3) 8T I w3 ARG (WEgs3T) el § 9 &
TS 3T OF | for wizg St a3t ?
G
TIE T¢ I8 AHTG fa I fafumit § g9=37s H3®s Bt (B) o3 w3t 7 Udtos w3 fag i3
(1) AHT (credit) W 77 5 (debit) Wy feg fag Tan iz aear :
(1) HHsdT T w3 (Import)

(i) feowi3foxm

a9 T °n fa I a3 9896 7t I 7 ass 2
(i) »F3 o3 yfeadt saa=sHa st IHa<T |
(i) "z GusTyfeaste s fea 3 et Jrae J |

(iil) »w3 Qudaryfegst v s fea 3 <03 IFa= T |
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(i)

A HaS WIg G3ume et ufggr fog
(a) ygw fedt

(d) wmHes fedt ardt gvmg iz GUI Fas IHedtEsue T & a9

@)
(i1)
(iii)
(v)
W)
(V1)
(vi1)
(viii)
(1x)
)
(x1)
(xi1)

(xiil)

FIHITIT BT fHgazTaT
faHt »ifzy Sugar g
fargrfem
FIGS »if 3y Gudar uae
g

fenra

IS WIg Yt faa=
fa=® gaHE (Import)
g% Yt v Qusar
fo=s »Eyag

feow 3 faes Irad nMieEs
‘Fed few” geme

HHI3 (THST a&t) »HEs

CSEE)
100
200

20
50
10
10
60
10
20
30
()20
10
110
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583

FAfmE o e | fager 1 wim srEvshasti it qitee ausmT |
CUE]
AT AT 1w FfaTe § Sk gt sh et wHemsy |

Explain the role of margin requirements in dealing with the problem of excess
demand.

OR
Explain the role of bank rate in dealing with the problem of deficient demand.

TR fhe YR el T 3796 (GDP) & Hed & gash & &9 § “T-fgs®
fofama” wp diarg ¢

Explain how “non-monetary exchanges” are a limitation of the Gross Domestic
Product (GDP) as an indicator of welfare.

e[ Sk h1 “Seh1 T b hTH FHIATST |

L]
Th HEATCHS IeTET % WETId] 3 GE TV <61 Uish a1 Guesy |
Explain the “bankers’ bank” function of Central Bank.

OR

Explain the working of money multiplier with help of a numerical example.

T A g FefaRad o1 Tord s TR $Sfina = o Ffisha it -

(a) 3Tiefeh wEr

(b) =TI h ST

(c) THTTHgI HL WeTT

(d) gt = Far meam

Giving reasons, classify the following as Revenue expenditure and Capital expenditure :
(a) subsidies

(b) repayment of loans

(c) expenditure on collection of taxes

(d) expenditure on building a bridge

Cc1
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(a) HYS BT AR 3R YeABd o s 3 AqTEY |
(b) gTAH Hge H WE TFCH 3T HHENH 8§ e ® S 3Tl 9dise | §9 3Ta T
FAT G & 7

JYar
HRT ¢ 7T sy fop frefafad &1 yram d9qem (%) 1 @1l TR Sira @ 3 3R
(@) 51 (credit) a7 31 9T (debit) w1 U fop® TepT oot feham ST :

1) i T AT
(i) faeiafaam
Answer the following :
(a) Distinguish between ‘devaluation’ and ‘depreciation’ of domestic currency.
(b) Distinguish between autonomous transactions and accommodating transactions
in the balance of payment. What 1s the significance of this distinction ?
OR
Giving reason explain how the following will be entered in (a) current account or
capital account and (b) on credit side or debit side of balance of payments :
(1)  Imports of machinery

(1) Investments from abroad

SHTOT < BT FaTsC o fmtaiad oehed wel & arverd ?
() 3raa s9d yafa ThReHs T2l B dehdl |

(i) HHTa IR T T Yed Teh W T B HhATE |
(ili) 3T STTFT ol 1 b1 Tod Th B JA(4h &1 FhaT & |

Giving reason state whether the following statements are true or false :
(1)  Average propensity to save cannot be negative.
(11) Value of marginal propensity to consume can be greater than one.

(1) Average propensity to consume can be greater than one.

10
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24.

(a)

(b)

“ITE ek Fh T YL 3cATg Shi TR Y |

(%) =z fafa afr (@) 3ma faft g S v | weha TP 3came &1 Jiehed

*Hifre
(Fe)
(i) | st s et 100
(i) | fasft safam 3awm =1 200
(iil) | fsrern 20
(iv) | weprl 3ifan 3avm =2 50
(v) |<m 10
(V) | = 10
(vii) | wepe aey it famon 60
(viil) | foerer amama 10
(ix) | e doft 1 I 20
x) | e sraeae # 30
(xi) |foemn & foeret e 313 (-) 20
(xil) | weieh § AiE 10
(xiii) |fufya 3 110

11
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(1)  Define “Real Gross Domestic Product.”

(1) Calculate Gross National Product at market prices by (a) expenditure method

and (b) income method.

(in ¥ crores)

(1) | Compensation of employees 100
(1i) | Private final consumption expenditure 200
(1) | Rent 20
(1v) | Government final consumption expenditure 50
(v) | Profits 10
(vi) | Interest 10
(vi1) | Gross domestic Capital formation 60
(vi1) | Netimports 10
(1x) | Consumption of fixed capital 20
(x) | Net Indirect Taxes 30
(x1) | Net factor income from abroad (- 20
(x11) | Change in stocks 10
(x111) | Mixed income 110

12
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g —-H
SECTION - A

frefafaa § & %m & o searer § 3t o e faafincdt 2 2 (98 fosreagfo)

(a)
(b)
(©)
(d)

e TR ArTa
Hira @

3d A AR
3T TR @

Which of the following cost decreases continuously with increase in production ?
(Choose the correct alternative)

(a)
(b)
©
(d)

Total Variable Cost
Marginal Cost

Average Total Cost
Average Fixed Cost

IeqTEH FHTIHT S6F 3T a1 3T RaaesTa o/ gt & ¢
What does a rightward shift of production possibility curve indicate ?

Tk B UH SR W TR amefier § gt €1 e shiaa W ey =i fea oft 7T e S sk
B | S-S 9 ag o1 31 wET v Tafera ged wosErd) B, ST aenty (37E) 3R
3T T o offe e grar & « (T oot gfo)

(a)
(b)
(©)
(d)

3T 3TFTH > HHT 37w
3T 3TFTH = T 3TFH
3T 3TFTH < w7 3TeH
I H F 7§ A 7E

A firm 15 operating in a market where it can sell any quantity of a commodity at a
given price. As more units of the commodity are sold, the relation between marginal
revenue (MR) and average revenue (AR) 1s : (Choose the correct alternative)

(@)
(b)
(©
(d)

Average Revenue > Marginal Revenue (AR > MR)
Average Revenue = Marginal Revenue (AR = MR)
Average Revenue < Marginal Revenue (AR < MR)

None of the above

Cc1



4. €HTG Iedre %1 aieTT St | 1

Define marginal product.

5. oIS T TOETOTE AT R X 3eaTed d9TE ok AT 3 | 3
I
HHTA 3TaER AP 1 aRaTT GfT | U HEdTeeh IETETUT o1 Wl H 39 ITN I
T H AT |
State any three assumptions on which a production possibility cuuve is based.

OR
Define marginal opportumty cost. Discuss briefly the concept with the help of a

numerical example.

6.  STSIHT © 1 AT § ? TR A U ‘Ifg T 37T B B HTEh Fqrsy | 3

What 1s market demand ? State any two factors causing “increase” in market demand.

7. T 3cATEHh IATEA % 39 W W Aqer W HhEddl § fod W HH S S STFT
(|wnih) ok 99 BT ) T 7 F1 Hged gread i v AT arrd 3R HiH| 3TE 6
FHHAT HTH & ? FHATST | 4

A producer 1s said to be in equilibrium at that level of output at which marginal cost
1s equal to marginal revenue. Why ? Is equality between marginal cost and marginal

revenue sufficient to ensure equilibrium ? Explain.

8. oreg X o1 5 uftrera e firey & 3wkl wit 10 uftera sigdt & | &g Y %1 20 fawra shiua
W O IFEhT AT 10 Ffaera gt § | 9% X TR a5 Y i hidd WA o= o1 IieheH
ST | X 3TR Y o | H ag 31t aasfia s ¢ 4

A 5% fall in the price of Good X, leads to a 10% rise in its quantity demanded.
A 20% mnse in price of Good Y, leads to a 10% fall in its quantity demanded.
Calculate the price elasticities of demand of the two goods. Out of the two Goods

which one 1s more elastic ?
58/3 4 C1
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IS BH Th ITCTMHH T SR J hidd 3717 Iedred & a) d fota o 1§ weer fadt = wdl
2 7 WHTIT |

HY4r

ol sfaefirar § wh HH FHa- SR 3R THTUHR 4 shaa-faRe #=&i ard & ?

HHART |

Why are firms interdependent in taking price and output decisions under Oligopoly ?
Explain.

OR
Why 1s a firm under perfect competition a price taker and a price maker under

monopoly ? Explain.

IFeqhTerh 3T e e Icaed Hal H ] 3Tl § ? Tedhiiolh Icdied hoid &
fefyr=r =0 9T 3cae &AM TR FqET | @i &1 990 S |

What is the difference between short run and long run functions ? State the different
phases of the short run production function on the basis of marginal product. Use

diagram.

Haet g whenfi & fo s dem 10 % AW

For blind candidates in lieu of Q. No. 10 only

TR Tk 3R SR eTeh IcdTed BTl ok s 1 AL E 7 edehl ofeh IcdTed &l 6
Tt =T v 3came % TR W EqET | a1 ookl W1 TR HinAT |

What 1s the difference between short run and long run production functions ? State
the different phases of the short run production function on the basis of marginal

product. Use a schedule.

Cc1
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12.

@ 1 g | AT 1 314 TART | $HHT AT o A T THTS FHEATST | 6

Explain the meaning of excess demand with the help of a diagram. Discuss its effect

on the equilibrium price.

et g uhenfi & foa v g 11 % AW

Tk dleisT 1 wEEdl ¥ YR &1 34 TS | 3UhT dgod Hhigd W OINE

R IR

Note : The following question is for the BLIND CANDIDATES only in lieu of
Q. No. 11.
Explain the meaning of excess demand with the help of a schedule. Discuss its effect

on the equilibrium price.

frafafaa & s dfae 6
(%) TS @1H 314 TR T

(@) =ote ¥e w1 314 3R g

() ratraE = g

<L EI
I Teh AT % FHeT T W1 HHH TR
20 X +10 Y = 500
frmtafad sl 13T g :
(i) = W1 5h! TuTal 91 BT ? 1
(i) afg wEE ¥ 500 st gl oeg X W &3 Hi WIC a1 98 feha-l TET 61T HT
qT@TT 7 UMY 2 | 2
(iii) afg a%g Y &1 shiHd 3 50% =h1 HHT 3T & T Th A3 dofe {1 W 1 i
HL TS F1e @1 FHiw Yy g ) 3

6 C1
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Answer the following :

(a) Meaning and equation of budget line
(b) Meaning and equation of budget set
(¢) Meaning of indifference map.
OR
If a consumer faces the Budget line equation :
20X+ 10 Y =500
answer the following questions :
(1)  What will be the slope of budget line ?
(1) How many units would he be able to buy if the entire sum of T 500 1s to be
spent on Good X only ? Show calculations .
(1) Construct a new budget line equation if the price of Good Y falls by 50%. Also,

write the slope of the new budget line equation.

Hig—o
SECTION — B
HTERT sh] TS TITHE shT Tieam S | 1

Define the revenue receipts of a government.

I ek ©TeT AR gRT T &G ITT O h1 ITEYThdT & | (Tl fospea i) 1
(a) =TS YIaE

(b) =TT S TN 3= WPTAH

(c) &l WehR b YTad

(d) o fafme gram

Primary deficit 1s borrowing requirements of government for making
(Choose the correct alternative)

(a) Interest payments

(b) Other than interest payments

(c) All types of payments

(d) Some specific payments

-1
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ET o AAYTE F ? 1

What 1s meant by money ?

ot arefeeme 4 TE1 31T 1 gea | 7 | (98 faee gfw) 1
(a) h
(b) aforfses d%

(©) (=) 3R (b) T
(d) ¥R
1s the main source of money supply in an economy.
(Choose the correct alternative)
(a) Central bank
(b) Commercial banks
(c) Both(a) and (b)

(d) Government

e uek Fefege T8 C = 500 + 0.9 Y 371 = Z 1,000 e
(S8l C = 3w =94, Y = Ui 313, [=faam) 7))
Ty =1 aleser i 3

() g T R T 3

(i) THEIToTs 1AM

If in an economy C=500+ 0.9 Y and I =% 1,000 crores.

(Where C = Consumption expenditure, Y = National income, I = Investment)
Calculate the following :

(1)  equlibrium level of income

(1) value of investment multiplier

8 Cc1



